L S yllabus

ki,

I~

bJ

. BaF &d9 (Aur) 3. wAféeg fiw, wafeg damdt af

(weft (fed'afe=)
#t. ¥ #asIs ot ufasr (PU.)

( wires ufosr |
as W = 100
feudt : 90
fezgss wAAHE @ 10

W 3 Ul 1
USgH

wrafsa Ut afesr v wiftows 25 mid
uaret feataft 25 nig
Yt wifas e fefzam (1901 37 2000 39) 20 M
IHT I UdTH ITHT 10 »g
Afa3 & U 10 wia

=

oddH

(1901 ¥t: 3° 2000 €t: 39), uaﬁ%ﬂﬁfa@awagﬁ%
azﬂaql
(fsguraz w<t « et da fAw, 4. uds fiw, uat @i

. Hos fiw, #fsr sy, g g€, ﬁ:@'

3. dfgews fiw, 37 A9I39)

& wans, \3 fiw A, uastans 8T N

gdftarg | (femiz arar féw fearaft & &g
7 w3 g

(€) e sora’ unaa fed” yiar wfaz fenfior (€ fevr

ferar) 10 M

() ‘B wows' feateft @ sl wim & yiar wAfos

fenrfimp (@ fed” fea) 10 wa

@) afrﬁ-gﬁarl‘af‘@ﬂ“fdu ﬁzaa*!‘@?wfgmmm’mwﬂz

gq (¢ fed” fea) 10 ¥

() t‘eaiaﬁe"tﬂﬂh—;{auatf (¥ feu fea) (wfoza uay few
fen, fedt, m?ugafaga?;ﬁﬁﬂ‘?qﬂ?;y‘%wl

10 Ma

6.

O

o

%

afe weffa 3 feataft Aolfo fed” sw €33 @8 yrs (s
Yyt feg™ un) 2x5=10ma
(yas & €39 f35-v9 A3et 3 U & I9) |
Ut \Afgz ur fefzam (1901 € 3 2000 € 37) : afesr,
ared 3 fearsht wfazs feg™ fefsom o fius (Fuy €73
T8 yrs) (g fev adt v9-8739 50 muer 372U &7 I2)

5 x4 =20 Mg
Wh{gwa‘fm s & ufgsmr, yfaast, yoivs 3

.Eﬁwﬁﬁﬂw(ﬁﬁ?%&) 10 e
HTPGB’% : T3 33 10 »d
arf’egv@ 15, feardft, aes, ot (B fed fea)

AT UtsgH BE 923 e 6 + 6 = 12 Utdhws |
L 2




